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5] How much is the shirt?

A. £19.15. B. £9. 18. C. £9.15.
BEREC,
1. Which part of the play does the man like most?

A. The actor. B. The ending. C. The story.
2. Which place are the speakers trying to find?

A. A restaurant. B. A bank. C. A hotel.
3. What are the speakers mainly talking about?

A. Their friend Jane. B. A weekend trip. C. A radio program.
4. What will the woman probably do? |

A. Catch a train. B. See the man off. C. Go shopping.
5. Why does the woman apologize?

A. She makes a late delivery,

B. She goes to the wrong place,

C. She can’t take the cake back.

T (Gt 15 /NE/ME 15 4y, g 22,5 41)

Wi 5 BESAE . BRI A AR JLA/ME, MER AR AB.C =A%
g Y BT . W B T M I HT R 8] [ R A NG, /N 5 B TR &
/NS 5 RPBR I VEE I E] . R ERE B E BRI .

(2019~2020 FEIHEB=HRELMERIE £ 1 W12 W) * 20—04—336C




































